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7 March of the (Vinions!

Colour % of them in their normal colours.

Some have been injected with PX-41 and have turned crazy — colour 3/1 of them purple.

Not all of the bananas are ripe . . . /3 of the bananas are ripe, so colour them yellow. %/s of the
bananas are not ripe enough yet, so colour them green. The rest are past their best, so colour them
brown.

III

It's party time and for the minions, there’s no party without “gelato

This lucky minion has a super-tall ice cream!
% of the scoops are mint, so colour them green.
/6 of the scoops are strawberry, so colour them pink.

/5 of the scoops are chocolate so colour them brown.
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Answers:

1) 5 should be coloured in their normal colours (yellow and blue) and 6 of them should be
coloured purple

2) 5 bananas should be yellow, 6 should be green and the rest (4) should be brown.

3) 3 scoops should be green, 2 should be pink and 4 should be brown.
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